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Question Number : 5 Question Id : 4771878106 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : Yes
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Question Number : 7 Question Id : 4771878108 Question Type
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 4771878110 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
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Question Number : 10 Question Id : 4771878111 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 4771878112 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 4771878113 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 4771878114 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 4771878115 Question Type : MCQ Option Shuffling

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 4771878116 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 4771878117 Question Type
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 4771878118 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 4771878119 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 4771878120 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 R 4 iy - R L N T S T s v SRR P s L
£od re&° 288 20808 Somohodld ;518 Sosnéden snBAID wrngfiren EDA otk

I SATaAaFaST A Taaed T Aqaar 5 qfe

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to all

candidates.
Options :

S L A
C‘Z‘V-O;f_:-:u N&J&q



Question Number : 20 Question Id : 4771878121 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
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Question Number : 21 Question Id : 4771878122 Question Type : MCQ Option Shuffling : Yes Display
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Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 4771878123 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 4771878124 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : 24 Question Id : 4771878125 Question Type :

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 4771878126 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 4771878127 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : 28 Question Id : 4771878129 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : 29 Question Id : 4771878130 Question Type : MCQ Option Shuffling : Yes Display
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Question Number : 30 Question Id : 4771878131 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
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Language I Sanskrit

Section Id : 477187255
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 477187406

Question Shuffling Allowed : Yes



Question Id : 4771878132 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (31 to 35)
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FATLIO I TEATHAT e, AT
2.

. TATIIIOT L THATOTT FATEAT ST = TAT FEAAT
3

FATLITO IO TAT J9aT

4. %

Question Number : 32 Question Id : 4771878134 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FEAT Fe e FATTATS TATCATT AT ATTGTFHEA?

Options :

E
1. #

rl l-{l I



Question Number : 33 Question Id : 4771878135 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HAH TIZHES FEAA (o9 ST ahiear?

Options :

5 7F9T — AT g =T awtea

1. ®

2.

3. ®

4. %

Question Number : 34 Question Id : 4771878136 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A ?\q M HHHAT gl Eqiﬁ\ Tar?

Options :
HIAET AT A0 Aed T2 FFT0T HHET A9 q7T

1. ®

AIET: AT TP TFIET ZTgA Fadea: a1 TEIT GHET:

TN HHEAT AT JUEAAT AT AT &= g T4
3.¢

SAdY: AATAT AT THEAT ITTEAAT
4. %



Question Number : 35 Question Id : 4771878137 Question Type

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

FOT ATTE HTHE H ATET?

Options :

ETHTAT (oo aTaAT = 97T a7ed gaT At |

1. ¢

STATAT SITTTET AT A At |

: MCQ Option Shuffling : Yes Display

2. ®
STETTIT STToTeT JTHed T Ao |
3. %
THTAT T HTHE S 4 AT |
4, %
Sub-Section Number : 2
Sub-Section Id : 477187407
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 4771878138 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“TEEMYT SEATA | AT aaaSa] I9: F9” Fhd F07 H1A THEATI7?

Options :
b 2 & : i
1. #®
2. %
3. % o
I



Question Number : 37 Question Id : 4771878139 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“EFTHTCHT FTeAF" Zi el TR ia?

Options :

EREIRE

HATTvs FEH:

Question Number : 38 Question Id : 4771878140 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“arerr=Tie T F T Hg AiaaTiear JEa qih: 39 i 9= F1o99 -

Options :



Question Number : 39 Question Id : 4771878141 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
EHH i (4EH?
Options :
04

1. #®
06

08

10

Question Number : 40 Question Id : 4771878142 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FrEEL FET Bl AEG?
Options :

LGRS

1. *®

CIEETE]



Question Number : 41 Question Id : 4771878143 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
HTAT AT (L9 raT T2 a0, T 9007 97 — F: AATHIL

Options :

Question Number : 42 Question Id : 4771878144 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
AT TP @@ HIATET: AGqaaH: 5.7

Options :



Question Number : 43 Question Id : 4771878145 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

N G O ATEq

Options :
EILCEE
1. *®
MREENEEF
2. %

Question Number : 44 Question Id : 4771878146 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IIUEATAT AATTATH : HETHLaFT HeH T4 07 [HATa?

Options :

EGREIRI



Question Number : 45 Question Id : 4771878147 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
IR 9T AATH?

Options :
ASATAT

Question Number : 46 Question Id : 4771878148 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Feae T /e

Options :

Tt
1. ¢ '



Question Number : 47 Question Id : 4771878149 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
fafae: e %= arra?

Options :

Question Number : 48 Question Id : 4771878150 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
”ﬁ:rmd ot gﬂ—q-l-u': 1 TE,J‘-‘%- o= ﬁ_tﬂ:l_&l_‘l'?

Options :



Question Number : 49 Question Id : 4771878151 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FATIET T4 Tl 399 FAITd v@Tfs®a 756 7479 7% =AE7q

Options :

Question Number : 50 Question Id : 4771878152 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
T, T, St g amTET T A

Options :

"3



Question Number : 51 Question Id : 4771878153 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FOITAT A7, TATT TGHT: TTH
Options :

HETATO:

Question Number : 52 Question Id : 4771878154 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

o

Options :



Question Number : 53 Question Id : 4771878155 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

AL AHET =AHEA

Options :

ELR

1. ¢

Question Number : 54 Question Id : 4771878156 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Options :

q:'ﬁ ﬁﬂ qI:

1. #®
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Question Number : 55 Question Id : 4771878157 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A EAHETL T (A AT F69 ITEAAT-ATIHRT i ?

Options :

Question Number : 56 Question Id : 4771878158 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
ERIEERGERRRER I I e e
Options :
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2. %
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Question Number : 57 Question Id : 4771878159 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fereaTtarTe s @1 (RTE) Toi® S1aeT ATa®1e: AT |

Options :

1. ®

AAF ATTATT AT HTSTHT AT H

2. %

HTTATIT ATEAHT ATET
3. ¢

AAATIT ATETHA ATITH

4. %

Question Number : 58 Question Id : 4771878160 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
FAAT U5 IZeFAET
Options :
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1. ¢
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2. %
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Question Number : 59 Question Id : 4771878161 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T5AH ATH
Options :

FEATTIT STeATAT 9 g AH
1. ®

HEQO] STeATwAT: SATETH:
2. %

ATTTTERTH
3. %

AAFTIH
4.

Question Number : 60 Question Id : 4771878162 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

FERT ATATAT: (9020 T9H AT 9 ATeq

Options :
1. #® A
2. %
3.¢ "
4.% 0

Language 11 English
Section Id : 477187256
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26

Number of Questions to be attempted : 26



Section Marks :

Maximum Instruction Time :

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

30

0

1
477187408
Yes



Question Id : 4771878163 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (61 to 65)

(61-65) Read the following passage and choose the correct option for each
guestion.

During the pre-independence era, Indian politician was almost non-existent.
He was given concrete identity and character by MK Gandhi. The social workers,
supporters and people from all walks of life joined Gandhiji for opposing the British
dominance over the Indian subcontinent. From these cadres, politicians of highest
calibre emerged. The reason of their political abilities and respectable status among
the Indian masses was their association with the greatest legend of their era Mahatma
Gandhi. Moreover, those leaders were pious to the core, knave, hardworking and ardent
practitioners of highest moralistic norms.

The masses adored these politicians of highest calibre and were prepared to
sacrifice their lives, property and sanity for the sake of the achievement of the sacred
objectives, which were defined by these true leaders of our nation. The leaders of yore
were the most respected people of =ociety, the saviours of the nation. and role models

for the plebeian masses, whom they always tried to emulate.
Sub questions

Question Number : 61 Question Id : 4771878164 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The main source of respect for the early Indian politicians among the masses 1s

their
Options :

wealth and power.
1. #

Western education.
2. ®

assoclation with Mahatma Gandhi.
3. ¢

positions in the British government.



Question Number : 62 Question Id : 4771878165 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
What era 1s mainly discussed in the passage?
Options :

Pre-independence era
1. v

Mughal-era

2. %

Post-independence era
3. %

Modern era
4, %

Question Number : 63 Question Id : 4771878166 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following qualities was NOT attributed to the leaders?

Options :

Piousness
1. %

Deceitfulness

Hard work

High moral standards

Question Number : 64 Question Id : 4771878167 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



What does the expression "leaders of the yore' refer to in the passage?

Options :

Leaders from foreign countries

1. #

Leaders during the pre-independence era
2. ¢

Leaders who collaborated with the British
3. ®

Leaders of India's post-independence era
4. %

Question Number : 65 Question Id : 4771878168 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

What were the common people ready to give up for the leaders' cause?

Options :

Only their wealth
1. ®

Only their personal freedom

Their future generations

Their lives, property and sanity
4.

Sub-Section Number : 2
Sub-Section Id : 477187409
Question Shuffling Allowed : Yes



Question Number : 66 Question Id : 4771878169 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly sequences the following sentences.
A ) He apologized sincerely for being rude.

B) Later. he felt guilty about his behavipur.

C) During the meeting. Mr George spoke harshly to his colleagues.
D) Everyone accepted his apology readily.

E) It was because of a minor misunderstanding among them.

Options :

E.C.B.A. D
C.,E,.B,A, D

B.C.E.A. D

C.E.D.A. B



Question Number : 67 Question Id : 4771878170 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct option with regard to correctness of the following sentences.
A: People rushed to find shelter from the storm.
B: Immediate action can helps reduce future disasters.
Options :
Only the Sentence A 1is correct.

1. ¢

Only the Sentence B 1s correct.

Both the Sentences A and B are correct.
3. %

Both the Sentences A and B are not correct.
4. %

Question Number : 68 Question Id : 4771878171 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
“Despite being outsider, she was elected as chairperson of the
committee.”
Identify the suitable option to complete the sentence.

Options :

an, a
1. ®

the, the

a, the

an, the
4. &



Question Number : 69 Question Id : 4771878172 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The police officer found a child in the hut.

Choose the option to complete the sentence.
Options :
frightenad

1. %

frightend
2. %

frighteaned
3. %

frichtened
4.¢ -

Question Number : 70 Question Id : 4771878173 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant sound in the word “vehicle”.

Options :



Question Number : 71 Question Id : 4771878174 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the meaningful sentence.

Options :

Vha ev expected was to begin at six the performance.
What they expected to begin at six the perf
1. #

) @ What they expected was the performance to begin at six.

They expected was what the performance to begin at six.
3. %

What expected they was the performance to begin at the six.
4. %

Question Number : 72 Question Id : 4771878175 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I the order last week but the goods haven’t turned up vet.

Choose the correct option to complete the sentence.

Options :

get gver
1. ®

sent off
2. ¢

finds out

glve In
4. %



Question Number : 73 Question Id : 4771878176 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

She was the only person whose I could trust.

A B C D

Options :



Question Number : 74 Question Id : 4771878177 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He asked her. “Why didn’t yvou inform me about the change in schedule?”

Choose the appropriate reported sentence.
Options :

He asked her why she had not informed him about the change in

schedule.
1. v

He asked her why didn’t she inform him about the change in schedule.

He asked her why she did not inform him about the change in schedule?

He asked her why has she not informed him about the changed

schedule.

Question Number : 75 Question Id : 4771878178 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He never acts so rudely, ?

Choose the correct option to complete the sentence.

Options :

% don't he

does he
2. ¢

doezsn’t he

did he



Question Number : 76 Question Id : 4771878179 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct plural form of the word "phenomenon'.

Options :

phenomenas

phenomena

phenomenon

phenomenae

Question Number : 77 Question Id : 4771878180 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the grammatically INCORRECT sentence.

Options :

When she entered the room. evervone was talling loudly.
1. ®

While he was watching TV. the phone rang.

After she finished the exam. she goes to the canteen.

By the time we arrived, the guests had already left.



Question Number : 78 Question Id : 4771878181 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

She visits her hometown once in a blue moon.

Choose the meaning of the expression "once in a blue moon".

Options :

very rarely
1. ¢

day by day
2. %

davy after day
3. ®

regularly
4. %

Question Number : 79 Question Id : 4771878182 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The hard work exhausted the men.

Which of the following correctly transforms the given sentence into the passive
volce?
Options :

The men have been exhausted with the hard work.
1. #

The men are exhausted with the hard work.

The men had been exhausted with the hard work.

The men were exhausted with the hard work.
4. &



Question Number : 80 Question Id : 4771878183 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

You will have realized by now that

Choose the correct option to complete the sentence.

Options :

I am quite serlous.

1. ¢

I have been quit serious.

2. ®

I was quite serious.
3. ®

I had been quite serious.
4. %

Question Number : 81 Question Id : 4771878184 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
There was a lot of conflict between him and her.
Identify the antonym for the word "conflict.
Options :

dispute
1. #

quarrel
2. ®

friction
3. ®

agreement
4. ¢



Question Number : 82 Question Id : 4771878185 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

He was deeply affected the news of her departure.

Choose the correct option to complete the sentence.

Options :

of
1. ®

o1
2. %

by
3. ¢

off
4. ®

Question Number : 83 Question Id : 4771878186 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

At this juncture, it is impossible to say whether she will make a full recovery
or not.
Here the word “1mpossible” 1s a /an
Options :
verb

1. ®

adjective
2. ¢

1gun

adverb



Question Number : 84 Question Id : 4771878187 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The city we visited last summer was incredibly beautiful.

Choose the correct option to complete the given sentence.

Options :

[ % who

whose
2. ®

whom

which
4. &

Question Number : 85 Question Id : 4771878188 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following best describes the integration of LSEW skills in
Communicative Language Teaching (CLT)?
Options :

Practicing grammar rules in isolation
1. #

Developing language skills independently

v Using real-life contexts to enhance language skills
3. %

Relying only on writing assignments
4. %



Question Number : 86 Question Id : 4771878189 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following best distinguishes a method from an approach in

language teaching?

Options :

A method 1s broader than an approach.

1. #
An approach is a set of classroom activities.
2. ®
A method 1s the theoretical basis, while an approach is its application.
3. ®
An approach is a theoretical viewpoint; a method is a practical plan for
implementation.
4. &

Question Number : 87 Question Id : 4771878190 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which activity helps best in reinforcing vocabulary in young learners?

Options :

Dictation
1. #

Grammar drills

3 Word games and picture associations

Writing reports on vocabulary
4. %



Question Number : 88 Question Id : 4771878191 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

: Yes Display

“During a courtroom trial, a juror listens to the defence attorney’s argument

to judge its logic and truth.” This type of listening 1s known as
Options :

Selective Listening

1. #

Discriminative Listening
2. ®

Critical Listening
3.

Appreciative Listening
4. %

Question Number : 89 Question Id : 4771878192 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The primary aim of evaluation in English Language Teaching (ELT ) 1s
Options :
to pass or fail the students based on their performance.

1. ®

to 1dentify the learning difficulties of the students and improve

teaching.
2. ¢

to rank students among other competitors.
3. ®

to complete the syllabus and prepare the students for the next class.

: Yes Display



Question Number : 90 Question Id : 4771878193 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A psvcholinguistic barrier in learnming English refers to the

Options :

lack of playground.

poor classroom seating.
2. %

fear of making mistakes.

familiarity with foreign culture.

4. =

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Studies

477187257
4

Online
Mandatory
60

60

60

0

1
477187410
Yes



Question Number : 91 Question Id : 4771878194 Question Type : MCQ Option Shuffling
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 92 Question Id : 4771878195 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 93 Question Id : 4771878196 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 4771878197 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 95 Question Id : 4771878198 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 4771878199 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 4771878200 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 4771878201 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 140 Question Id : 4771878243 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

&g

ﬁ@-aﬂsjé , ©5red Homobotd $0500 wﬁ'i_w,c:aﬁ'i 8ol

Jogd WA o AFagH A HA (A
Options :

1. #
e5ere D86 ﬁzﬁﬂa %08 H8InEo.
TR ATH: AeAFT ATAIT 110 Fa97d1
2. %
£35%ren mﬁc,;?:i:ﬁpﬂa spbBdim @::.La'ﬁ HE0host SrhodHed
AT THTSTeTie AoaTera a1ed 7 99|
3.¢



Question Number : 141 Question Id : 4771878244 Question Type : MCQ Option Shuffling : Yes Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
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Question Number : 142 Question Id : 4771878245 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 143 Question Id : 4771878246 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 144 Question Id : 4771878247 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 145 Question Id : 4771878248 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 146 Question Id : 4771878249 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 147 Question Id : 4771878250 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 148 Question Id : 4771878251 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 149 Question Id : 4771878252 Question Type : MCQ Option Shuffling

Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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Question Number : 150 Question Id : 4771878253 Question Type : MCQ Option Shuffling : Yes Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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